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1. Determine the slope of the tangent line to the graph of X 2+ 4y2 =4 at the point (\/-2— ,—\/-2_ / 2). (6%)

2. Find the points on the graphof Y = 4 — x? that are closest to the point (0, 2 ).(8%)
3. Find the integral value of the following problems

(1). j:cosxsin2 xdx (5%)

)= 0, —7<x<0 x
@. f(®)= g, 0<x<z _Lf(x)cosnxdx (8%)
8x> +13x

4. Evaluate _‘-de (8%)

5. Find the area of the region between the graph of f(x) = 3%> 22 —10% and\g(x) =—x*+2x.
(8%)

6. If the polynomial approximation of f ®)is expanded about an arbitrary value of ¢, it is convenient to write

this polynomial in the form
P (x)=ay+a,(x—c)+ay(x —e) 4+ a,(x—c)’ +- s +a.(x-c)
(1).Please determine aq, a;, az, ... ..., @n. (5%)

Q).If f(x)= e*, please expand it about ¢ = 0 to the nth polynomial. (5%)

7. There is a rectangle, length a and width b, please find the total differential for the area of this rectangle. Also,
please explain what information can be obtained from the total differential for the calculated area. (10%)
8. Find &f /dsand of /ot for the function f = xy + yz + xz,, where x=scost, y=ssint, z=t.(10%)

9. Find the equation of the tangent plane to the paraboloid z=1- %(x2 +4y?) at the point (1, 1, 1). (10%)

10. Determine the relative extrema of f(x,y)=3—(x* +y*)"*. (7%)
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11. Solve y'=
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